EARAROBEEIERT — 2 N— IBISH —F

2013F1086H (H) 14E4£IR3H

mu@/\“iﬁ\%/ﬁ\@ﬁrgtga;ﬁkc 2—2 C H5%—# (xwlw | lmEmml - |5 @) o 8
[AE£] 1%&:170,000  ~ 2% :34,000”  33%&:1500 M . 43%&:11,000 " 53 :6,000 0
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
e 4o o o4 | BRFEB 1:33.1 6-6-5-4 |39.7| — 4 446 | EUVES (£R)
118l1g] F—F1 X 56.0 (=) (-p) | HAiE=ILE
L= FJOo— BT q4 Tk LZHITy7—LI
N . = & JIIZREABA :33. —-4-3- . — BREBRE— (£IR)
ol7|l7 | FEXHFA4R as 4 54.0 1(73?:5 4%z 1408 ° ?_318) EKES
LY ARAYZ B 542757~ YA 7805
= 5 o4 | REE 1:33.3 1-1-1-1 | 41.2| — 2 431 | EUB5LE (£IR)
3 2| 77777 h 54.0 (1/2) (-q) |HRBAT
v TNVRry b BT F— Rl EE
N BREBAHE :33. -8-7- . - HiE—t (£R)
. 4| Fzu—ves it 4 o 1(13/32)4 8-8-7-8 | 39.1 8 (4_3;9) i g
LT RIA YT v BT IR BEMHEEGEN RRWS
o f o4 | EBBTE :33.4 7-7-7-7 | 39.1| — 3 | 461 | MNEERDER (£IR)
s 6| F—I/TVEX 54.0 ) L |BEEE
LevAxIT7T B:=2/O4v) Fit RS
SN . PR :34. 21— . - 2ARE (&R
6l7lg| =715y bee o4 e 1(3;1)2 3-2-1-3 | 41.9 1 (4_875) s
LY RKYTYXIR B:oYL hH— KBRS
-3, 3 = 5 | BHIER 1:34.8 5-5-6-6 | 41.4| — 6 481 | BIBEH (2R
7lglg|=v/32 b5 s B% s Gy |ERe
Lo R UXTIR By T4 XA Gieflipae]
P s 7 | FHEBE— 1:35.3 2-2-4-5 |42.9| — 9 425 | BWEH (£R)
g|5|5|BEERTR 54.0 21/2) o | @) m-zr7
:Aa%—K B:LF1/N—bhF— Bllikae]
5 s st 4 | FEHEA 1:36.2 10-10-10-10{ 40.0 | — 7 480 | SN (£IR)
9|11 |HAVIV> 56.0 @) 3 | W) Fr-xtEVa>
L:FLNnvwy Tt B:7A4/YalL ILIL YIET7—L4
S S = 47 | BAK— 1:36.6 8-9-9-9 |41.4| — 10 | 476 |$AEt# (£R)
10 3| TENTZ 2T 56.0 @) oy | B Tr—ZbEYa>
L:vy¥/ by THY B:T7ENTLERY— FEAEARN S
® 1—F—@EBIERL
1T=7r= 2,5,8,7,9,10,6, (3,4) 1
23—94— 2,(5,8),7,9,10,6,4,3,1
Jol=5r= (2,8),7,5,10,9, (4,6),3,1
40—F— 2,7,8,10,5,9,6,4,3,1
[ N5
B 10 770H 714K 7-10 910M e E 7-8 870M JEE 2-7-10 2,250/
B B 10 250H 2-10 280M e B 8-7 2,320M JEE 10-7-2 28,120
7 300H 2-7 250M B & 7-10 3,170H
2 1309 B H 10-7 5,880

ABICOVWTRDTEEERROODE. TR LIV,




